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You are going to listen to an interview with a man who is investigating how height is affected by what we eat. 
First you will have one minute to study the task below, then you will hear the recording twice. While listening, 
match the beginnings of the sentences (1-9) with the sentence endings (A–K). There are two sentence endings 
that you should not use. Mark your answers on the answer sheet. The first one (0) has been done for you. 
 
After the second listening, you will have one minute to check your answers. 
 
 

Height and How We Live 
 

   A reduced the effects of dangerous events 

0 Over the last 300 years, the human body has ___.  B were able to have a better diet 

Q1 Between the 18th and 20thcentury, the average 
height of men ___. 

 C increased significantly 

Q2 People living in British cities during the 19th century 
___. 

 D reduced use of fossil fuels 

Q3 Because people made more money they ___.  E changes in people’s lives 

Q4 Because people used machines, they ___.  F altered greatly compared to previous periods 

Q5 The British economy grew partly because people 
___. 

 G had mothers who had a better diet 

Q6 Later generations were more healthy because they 
___. 

 H improved medical services 

Q7 By dealing with their surroundings people ___.  I decreased in height 

Q8 Variations in average height point to ___.  J produced more food 

   K had better overall health 

 
 



 

 

 
Answer Sheet: Heigth and How We Live 
 

0 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ  Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q1 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q2 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q3 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q4 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q5 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q6 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q7 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

Q8 Ⓐ Ⓑ Ⓒ Ⓓ Ⓔ Ⓕ Ⓖ Ⓗ Ⓘ Ⓙ Ⓚ Ⓛ Ⓜ 

 
 
Test takers please note, the answer box for the matching task always gives options A to M. This is the maximum number 
of options offered in any of the DIFA TES reading booklets. For this task which has options A to K, you should mark your 
answers in the A to K columns only. You should not mark anything in columns L to M.  
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